log (L*go/L*g0) HAULAB-Helligkeit L* go normiert

log AY/IAY,)

HAULAB-Normfarbwertdifferenz

L¥IL* go, fur die UmgebungsHelligkeitL* g AYIAY, AY normiert fiir AY,
24100 -s(Y/Yn) —d (Y,=100,Y,=18, =22, n=0,31, d=30) [1 24100 —S(Y/Yn) ~d (Y,=100,Y,=18, s=22, n=0,31, d=30) [1|
L*=r (YY) "=d (r=s(Yy/Yp)'=13,49,L* = 1 — d) [1b] L* =1 (YY) =d (r=s(Yy/Yp)'=13,49,L* ;= r - d) [1b]
LHL* 4=g(Y/Yy)"~h (g=r/(r-d)=-0,78, h=d/(r-d)=-1,78) [1c] =Y/ (ns)IY 1Y) [2c]
log [(L¥/L* y+h) /g ]=n log {/Yy) [1d] vy =¥/ (1 $)](Yu / Yoyl "= 82533 [2d
1410 In [(L*/L* , + h) /g ] =In(10) n log Y/Y,) [1e] 1410 gy / dy, =(Y /Yy n [2e]
(LHL*  +h)y [ g = @0 nlog (7Y) [f log(dY / d¥,) = (1-n) logY / Y) 2f
©0,448
oy =1 =0310 L-»°0.301 Mny = 1-n = 0,690 L7
T =0BMT T T T e oo [— m.=o0e80” T TTTTT R
P ﬁg;g&lecr;’dungs PR Anwendungs-
" 1 ':0 7 1 bereich
o 01 1% 101Y,718100 v . 01 1 73 v,=18100
- -1 0 1 2 log¥ - -1 0 1 2 log¥
hgp30-1a hgp30-2a

log [(AY/Y) / (AYIY),]  HAULAB -Y-Empfindlichkeit
S/Sy=YMIAYY),  normiert fiir (AYIY)y
24100 =5 (Yo =d (¥;=100,Y,=18, 5=22, n=0,31, d=30) [y

log[(Y/AY) / (YIAY),)] HAULAB -Y-Kontrast

CHIC=(YIAY)(YIAY),  normiert filr ( YIAY),

24100 =s(Y/Yy) -d (Y,=100,Y,=18, s=22, n=0,31, d=30) [1

L*=r (YIYQ)"=d (r=s(Y/Yy)"=13,49,L* ;= r - d) [1b] L*=r (YY) "=d (r=s(Yd/Yy)"=13,49,L* ;= - d) [1b]
dY 1= [l (ns) 1Y Y)Y 3d] YIdY=Y L (Y (n$) 1Y 1Y) "} l4c]
@Y /1Y) =Y (n8)1(Va/ Yo ™1 Yy [3d] (V1Y =Ya (LYl (nS) (Yl Y)' ") [4d]
1210 (dY /Y)/ (@Y /YL =(Y/Y) " Belll 1410 (v /dy)y/ (Y /dyy=(Y/Y)" [4e]
log [(dY / Y)/ (dY / Y),] = (-n) log(Y / Yy) [3f] log [(Y / dY)/ (Y / dY)] = (n) log(Y / Yy) [41]
e *0,325 Anwendungs- [
2 B e ... . beween O || o4 ey R e
e . ~e-0,201 e 17325, Anwendungs-
' ' ' bereich
i 0,1 1 10 'Y,=18100 v o 0,1 1 10 'Y,=18100 Y
-2 -1 0 1 2 logY - -1 0 1 2 logY
hgp30-3a hgp30-4a

hgp30-3n




